Human Examples of Complete Punnett Squares 
1. Having six-toes on one foot is a dominant trait.  A woman who is heterozygous for the trait has a baby with a man who has five toes.

a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has five toes per foot?

e. What percentage of their offspring has six toes per foot?

2. Curly hair is dominant over straight hair.  A woman who is homozygous dominant has a baby with a homozygous recessive man.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has curly hair?

e. What percentage of their offspring has straight hair?

3. Freckles are a dominant trait.  Two people without freckles have a baby.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has freckles?

e. What percentage of their offspring do not have freckles ?

4. Widow’s peaks are a dominant trait.  A woman without a widow’s peak had a baby with a man who is heterozygous.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has widow’s peak?

e. What percentage of their offspring has no widow’s peak?

5. Crooked pinkies are recessive.  Two people who are heterozygous for the trait have a baby.

a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has straight pinkies?

e. What percentage of their offspring has crooked pinkies?

6. Cleft chin is a dominant trait.  A homozygous dominant man has a baby with a  woman who is heterozygous for the trait.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has a normal chin?

e. What percentage of their offspring has a cleft chin?

7. Having an up-turned nose is a recessive trait.  Two heterozygous people have a baby.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has a straight nose?

e. What percentage of their offspring has an up-turned nose?

8. Huntington’s disease is a dominant disorder.  A man who is homozygous dominant has a baby with a woman who is heterozygous for this disorder.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has Huntington’s?

e. What percentage of their offspring does not have Huntingtons?

